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�7H[WLOH�DQG�)DVKLRQ�&UDIW�6WXG\�3URJUDP�

(WK\OHQH�9LQ\O�$FHWDWH��(9$��VSRQJHV�ZDVWH�LV�RQH�RI�WKH�ZDVWHV�DUH�SURGXFHG�IURP�WKH�VKRH�
LQGXVWU\�SURGXFWLRQ�DFWLYLWLHV�LQ�%DQGXQJ��:HVW�-DYD��,QGRQHVLD��3URGXFWLRQ�$FWLYLWLHV�ZKLFK�
VWLOO�JRLQJ�RQ�FDXVHV�WKH�TXDQWLW\�RI��(9$��VSRQJHV�ZDVWH�LQFUHDVHV��2QH�RI�WKH�VKRH�LQGXVWU\�
LQ�%DQGXQJ�ZKR�SURGXFHG�PDQ\�(9$�VSRQJHV�ZDVWH�LV�0.6
6KRHV�ORFDO�EUDQG�FRPSDQ\��RQ�
0.6
VKRHV� FRPSDQ\�� WKH� UHVXOWLQJ� RI� (9$� VSRQJHV� ZDVWH� DUH� WKURZQ� DZD\� ZLWKRXW� EHLQJ�
SURFHVVHG�ILUVW��(9$�VSRQJHV�ZDVWH�KDV�D�SRWHQF\�WR�EH�GHYHORSHG�LQWR�D�IDVKLRQ�DFFHVVRU\�
SURGXFW�

7KH�UHVHDUFK�PHWKRG�XVHG�LQ�WKLV�VWXG\�DUH�VXUYH\V��OLWHUDWXUH�VWXGLHV��DQG�GLUHFW�LQWHUYLHZV��
WKHQ�� PDNH� REVHUYDWLRQV� WR� NQRZ� PRUH� FKDUDFWHU� RI� WKH� PDWHULDO� EHLQJ� UHVHDUFKHG� DQG�
FRQWLQXHG�E\�PDNLQJ�YDULRXV�NLQGV�RI�ZDVWH�SURFHVVLQJ�WHFKQLTXHV�H[SHULPHQW�DQG�GHVLJQLQJ�
DFFHVVRULHV�SURGXFWV�IURP�(9$�VSRQJHV�ZDVWH�� LQ�WKLV� ILQDO�SURMHFW��UHVHDUFK�LV�FDUULHG�RXW�
ZLWK�WKH�H[SHULPHQWDO�PHWKRG�WR�ILQG�RXW�WKH�FKDUDFWHUV�IURP�(9$�VSRQJHV�ZDVWH�DQG�GHVLJQLQJ�
WKH�DSSURSULDWH� IDVKLRQ�DFFHVVRULHV�SURGXFWV� WR�DSSO\� VHOHFWHG�H[SHULPHQWV�� VR� LQ� WKLV� ILQDO�
SURMHFW��WKH�DXWKRU�IRFXVLQJ�WKLV�UHVHDUFK�RQ�WKH�PDWHULDO�H[SHULPHQWDO�WHFKQLTXHV�DQG�GHVLJQV�
RI�KDQGEDJV�WKDW�ZLOO�EH�PDGH�LQWR�IDVKLRQ�DFFHVVRULHV�SURGXFWV�

.H\ZRUGV�(9$�VSRQJHV��)DVKLRQ�3URGXFWV��:DVWH


